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4 This Test Bookiet contains 50 items (quéstions). Each item (question) comprises four-’
‘ responses (answers). You will select the cotrect response {answer) which you want to
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Difecfion (Q. Nos. 1 & 2) : Choose a 4. 2, 3 57, 9,“11.1, 13, 17419

correct seduence ofrascgndin_g 'order'of | (A).- 2
~magni(ude‘. : U P : B) 9 | | |
1. 21298 47,10°: o - (C) e

w2238 10% 47 o e

| 103 012 47 a8 - -
®) , 10%,27%,4%,3% 5. Inthe series:

N 403 12 a8 7. . S
(O AR 2E e 861238742157862171413286

L 03 7 012 S |
) (_D) 10 "4}2 = how many pairs of successive

S L

2. Tiilion, Miliion, Billion, Thousand: ~~~ ‘humbers have a difference of 2
' - o each? - | |
(A) Trillion, Thousand, Billion, Millon eac
(B) Trilion, Million, Billion, Thousand -( ) 3
e ® 4
(C) Thousand, Biliion, Miflion, Trillion .
| SR €) 5.
(D) Thousand, Million, Billion, Trillion -
| (D) ©

Direction (Q. Nos. 3& 4) : Ineach of the - ‘
S S . 6. Lataranked eighth from the top and
following number series, a wrong number ' : :

L . C : thfrty ninth from the bottom in a class.
Is given. Find out the wrong number, _ ; .

| _ | How many students are there in a
3. 2,6,12,18,30,42: , | ' -

p " class? ~
(A) 6 .
L (A) 45
(B) 12 o
( ) (B) 46
©) 18
@ . o 4
(D) 3 -
©) ° (D) 48
Ve-aniz ) e
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Direction (Q. Nos. 7 to 9) : Which of these 10,

jumbled words is the odd one out ?

7. (A)  FARFIGE
(B) CWOR
(©) CIENCKH
(D) CHTOSIR
8. (A) ART- ﬂ
(B) ‘TAC,
(©) GoD
| (D) TAH
9. ‘(A) EHOSU
(8) EMEPLT
" (C) QUOMSE _
. 12.
(D) HURHCC '
| Directfo;l (Q. Nos. 10 & 11) I: Six peréons
_A, B,C DEF réf.e‘s_ifting arodnd la
: circ_Ular table at equal distance frorﬁ each
-~ other. A fs sifﬁn_g two place right of Bwho
is e.xactly opbosite fo C C is :on'
immediately fo the left of D, wh.o'is'exactly ‘
opbosite toE.-
VL 4AA2 (3)

®

D)

‘Who is the only person sitting

betweenAandB?

A F

(B)‘.. E

©) D

(D) C

The angle subtended by C and F.at

* the centre of the table s :

A) 60°
120°.
(C) 90°

180°

Lata is twice as old as Gita.

Three yearé ago, she was three
times as oid as Gita. How old Lata s’

now ?

" (A) 6years

(B) - Byears
(-C)' 10years .

(D). 12years

(Turn over)
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13. Amanis facing north-west. He turns

. 90° jn the clockwise direction and

14.

then 135° in the anticlockwise

direction.- Which directi.on is he
~ facing now ?

(A) North -

(B)  South

(C) East

(D) West

How many stch pairs of letters are

and answer the questions .give'n"

~ belfow.

there in the word ‘ENTHUSIASTIC

_ between them in the word as

‘each of which has as many letters |

I T#AJ7BSD2KOELSHPE % R
.. 15, _Hdw-ﬁany such symbols are there in
A'thé above arrangement, eaq-h of
which is immediately followed by a

Vvoweluand notimmediately preceded

by a number ?

& 1

® 2

(c)' .

(D) 4

L

Contd. -

‘ N | 16. How m.lany such numbérs are there
o thefe‘_a_re between them in_ _Eng!’ish; in the‘ .ab'o.vcre arrangérﬁent,-eééh of
alphabet ? * which is irﬁmediately preceded bya
: (A), 3 letter and immédiéfelyfoilbWéd bya
(®) 4 symbol 2 |
© 5 (A) None. -
(D) None of the above - (é)_ One
Direction. (Q.'Noé. 15 & 16) :.Study- ©) Two
the_folléwﬁng afrangement cafefully (D) Three
.\;L~4A/12 | (4)
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Direction'(Q. Nos. 17 & 18) : Each

: _ cjuestion' below has a set of two

statements. 'Eachlst'atement' has three

" segments. Choose the altern'aﬁveIWhefe

the third segment in a statement can be -

logically deduced using both the

' preceding two segments.

© 47..() Some boys are tall ; all tall

persons are smart ; some boys

are sr_nart. :

(i) Someboys aretall; some boys |

ar'ersn;lad , boys are either tall
orsmart.”

(A) - Only (i)

(B) Only (i)
©) .Neithe_r(t) nor (i)
(D) None of the above

| 18. '('i)‘

©. CrOwWSs are pens, no penis coin.

(i) Al co_inls are crows © some
| _CIOWS are pens.; sorhe .cé‘i‘ns
are penis. |
» ony(®

VL—4AM2

Ali coing_are crows ; some

B) Only i)
_{C) Neither (i) hor (ii).l _
(D) Both () and (i) |

Direction (Q Nos. 19 & 20).: From-

| a group of 5 'Ministerls A B, C, D, E

and 4 Officers L, M, N, O a team of 5

member is chosen under t}?e following
clondiﬁons'.
W Coannotgowith 0
(i) Aand D have to be together o
(i) D cannot gowith L
(ivj | Cand M havé to be tégether
v) | B and N have to Be toée’ther

(vi) B cannot go with E

19, Ifthe team consists of 3 Officers, then .

- the members ofthéteam are:
{A) LMNBC
(B) MNCSADV -

- (C) LMNBD

(D) LMOAE

{5) | | _- (Turn over)

[
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20. . If D is a member of the team 22 Element “Argon : : Gompound : ?

~and the team consists of 4 Ministers,
“then the other members of the team
. are: B

(A) ABCM

(B) ACEN It

| ..(C) ACEM

(b) -_iNon‘e_ c-n‘tAhe-abov'e |
_bffecﬁ@ﬁ (Q. Nos. 21 to 25) : Thereis a |
c;‘ertafn re)étionshfp betweén the twp'. wpi;ds -
on the_le-ft. hand side of the--sign ,
whicb of the given a[temaﬁv;es IS reléted‘
to Kt‘he third v\vor-_d}'n the same Wa} as the .
s.econd word is related to the ﬁrsf_wbrd ?
21. Potato: Stém ' furnib 07

(A) 7' FIoWer: |

) Vegetable
(Cj Root
(D) Noneofthe abm}e

VL-4m2 (g

.24,

25.

®

®)

(C)

- (D)

Copper

Water

Hydrogen

_Neon

Resistance: Ohm: : Potential : ?

®)
B)
(98
(D)

Ampere
Joule .
Volts i

Watts

Hostel : Warden‘: : Museum 07

*
®
©
o)
Cat

A

(B).

(D)

_Archéec_)lorgist

-Conductor

Curator

Servaht

Kitten : ; Lion - ?- '

Cub
Calf
Pony

Lamb

Contd. '.
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26. In a correctly worked out multi- - Direction (Q. Nos. 28 to 30) : Refer to

olication ;:iroblem beIE;w ‘each z‘h.eﬁgurebelowandans’werthequésﬁons -

letter represents ,.a dif-ferent thatf?”(_)_m
-digit. What is .the value
of X? o | L
X2y . . —
212y - | 28. HonanytriangIes'are there in the
. | | givenfiguré?' N
A w2
(B)'4 | (Bf'15
©s - (@) 20
@6 . (D) 2
27 1In ‘-,a" certain  language, i.f' 29. How many'sq.uares aré there in‘the; ‘
BHUBANESWAR is coded as ~ dvenfigure?
(NVCBOFTXBS,NNHSQUTTACK Ae
R soded ?4 | | ® 8
o © 10
(A) DWXXBDI |
S (D) 12

" (B)  DUUVBDL | .
' ' 30. Determine the number of straight
(C) DVUUBDL | |
S lines in the figure :

(D) BVUUBDL
(A) 10

VL-4AM12 ‘ - (7ry . _ - (Tumover) .
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® 12
:'_' © 14
o 16
_Di}egﬁon (Q. Nos. 31 fo 34) : In each

~ of the questions given below which one

of the fouf answer figures should come.

after the p(oblem ﬁgurés, if the éequence

- were continued ?

Problem figures .

Answer figures .

IR

) ® (©) ©)

“Problem figures

- < < - FT———%
32, |[s—lse— == <—
Answer figures .

v >4 -
<--_——3 —

A B © O

T

VL—4AM2

Problem figures
= X X o1 [A A
-] ' | -
= = X _ejd- A

33.

| Answer figures
Pl
A A==V |+ +
(A) (B) (C) (D)

Problerﬁ figures

S M kY

- Answer figures |
| | L |
rla | o
(R) (B) (C) (D)

34,

Direction (Q. Nos. 35 to 38) : Choose the

correct mirror imége of the problem figure

* when the mirroris placed in R-S position. -

35. Problerfa figure
" [R=9]

~ Mirrorimages

p[oTolo)

¢y cond
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36 Proble‘rﬁ figure

A
7 s)

Mirror images’

%

N

A (B) () (D)
37. Prob!elﬁ figure
MOUTH
s
,Mirroriinﬁag‘es
~ [WOUTHWGNTH[HTUOW|HTUOM|
®  KD)‘

(A

©)

38. 'Proble'r_n figure -

FAIL
|R—s

Mirror images

LV IF|EVIT|LIVA

LiAad

A (®)

VL —4AM12

©

©)

39

© aiternatives.

40.

The total number of dots on opposite
faces of a die is'always 7. Find the

correct _-figure‘ from the given

@

“Two positions of a die with 1 to 6

dots on its faces are shown below.

How many dots are there on the face -

oppol's,ite the face havi'ng'Z dots ?

w1
® 3

(Turn over)
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41.

(C). 4

© 6

How many dots lie opposite the
face having three dots, when the -

N given figure is folded to form a

“cube?

Ay 2

® 4
© 5

o 6

Direction (Q. Nos. 42 to 45) : A cubeis
© 45,

painted black on all six 'faceé is cut.info

97 small cubes of equal sizes.

42, Howmanysmall cubes have only one

face. painted ?
(A) 4

® s

VL= 4A/12

43.

- 44,

©) 8
(D) 12

How many smail cubes have only two

faces painted ?

(A 4

(B) .6
€ 8

(D) 12

‘How many small cubes have only -

~ three faces painted ?

(10)

A2

(C) 6

(D) 8
How many small cubes do not have-

- any of the faces painfed ?

Ay 1

® 4

© 8

(D) None of the above .

~ Contd.
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~ Direction (Q. Nos. 46 fo 48) : All nine

figures of each question are numbered

from 1 to 9. Arrange them into

3 groups according to their common

properties.
46'.'ID-A~'
1 2 1 3
AN PANA
14 51 6
1] A
- A7 _8 9

A (1,7,9);2, 3, 6); (4,5, é)
(B) (1.2,9):(3,4,6);(5,7,8)
(O (16,8):(24.7);(,5,9)

(D) (1,7,8);(2,9,3);(6,4,5)

47

~48'.” (D $ )\4 '
12173
4 | 5 6
LIV
7. 8 9

(C) (1,8,6);(2.3,5):(4,7,9)

(©) (1,3,4);(2,8,9); 5, 5}‘-7). |

A (4,7,9:(1, 3 8): (i2, 5,6) -
®) (13,4):268):679
(C) (1.3,4);(2,5,7): (6,8, 9)

© (13,8):(257):4.,6,9

Direction (Q. Nos. 49 & 50) : The
: prOb)’em figure is embedded in one of the
~ four answer figures. Find the correct

- answer figure which contains the problem

T L[V )
1 2. 3| igure. | .
HEAVA \V4 - 49. Problem figure
4 5 6 - — -
[IDNTA [ N )
L7 8 9 |
o L Answer figures
(A) (1,2,6,8);(3,4,9);(5,7) N
(B) (1,2,4);(3,8,9);(4,5.7) ' ‘
- A | A ® © ©O
VL-4a12 - | NGO RS | o '('T.Qr‘nover')
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” . 50. Problem figure

'/>\

VL - 4A/12

Answer figures

A

N

(A)

EEDBEREBEEHENEREE

(12)

- (B)

(€)

o)

. Contd. .
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r,
1

. Space for Rough Work

' VLT"‘A”Z o (18) o 7 o '(Turnover)
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~ Space for Rough Work

VL = 4A/12 . (14). o ~ Comd.
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Space for Rough-Work

VL-4AM2 (40,000) - - (15) Testof Reasonningand
: : : , E Mental Ability
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